Name Date

Chapter 7 Review - Polynomial Functions -

State the degree and leading coefficient of each polynomial in one variable. If it is not a polynomial
in one variable, explain why. '

1. 2n®+ 2m? 2. 5-3d* 3. (*+2)(x*-5)
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Find p(B) and p(-1) for each equation. oY \
4. p(xy=7x-3 5. p(x)=-3x*+5x-4 6. p(x) = Bx* + 2x% - 2x
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If p(x) = -2x%+ Bx + L and q(x) = x* -1, find each value.
7. q(n) 8. p(2b) 9. q(z% 10. p(3m?) 11. q(x +1)
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Gr.<na pol};nomfal and one of its factors, find the remaining factors of the polynomial.
12, (- x2+x+14); (x +2) 13. 2% + x? - 41x + 20); (x - 4) 14, (x*-8); (x-2)
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Solve each_equa'rion and state the number and type of roots.
15. -Bx-7=0 16, 3x*+10=0 17. x*-2x*-7x*-2x-8=0 18, x*-2x%= 23x* - 60x
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Find all zeros of the funcﬁot@ \W\O%- o \Wﬂ% ' |
19. f(x)=x3-7x2+16x-10  20. f(x) = 10x® + 7x% - 82x + 56 21. f(x) = x3 - 16x% + 79x - 114
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(;\ ‘e a polynomial function of least degree with the infegral coefficients that has the given zeros.
22, -3,1,2 23. -6, 6, -5i, 5i -
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Graph each function by making a table of values. Determine the values of x at
which or between which each real zero is located. .

Lf(x) = 2% — 202 + 1 2.f(x) = + 248 5 8. flx) = —xt + 22 — 1
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4. flx) = x® — 8x2 + 4 5. flx) = 3x3 + -1 6.f(x)=-x4—3x3+J‘
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For each graph,

a.describe the end behavior, _
b. determine whether it represents an odd-degree or an even-degree polynomial

function, and
c. state the number of real zeroes.
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